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1) Poikilotherms
A) are warm-blooded.
B) can regulate their internal body temperature with ability to thermogenesis.
C) include mammals and birds. ,
D) have body temperatures that vary as environmental temperatures vary
2) The process of photosynthesis in plants occurs in specialized cells within the leaf
called cells.
A) mesophyll B) stomata C) epidemic D) cuticle E) respiration
3) Which of the following is considered a plant adaptation to low moisture
environments? '
A) allocation of energy to roots
B) less efficient photosynthetic pathway
C) increased leaf longevity
D) increased photosynthetic activity
4) Terrestrial animals satisfy their water needs via eating, drinking, and ...
A) basking
B) hibernation
C) metabolism
D) torpor

5) FERZMFAAANKNTHRERSLREE  BREEETSEHFE
A) physiological ecology
Bj popuiation ecology
C) community ecology
D) Ecosystem ecology

6) MEFZRHMARE T HWNEEREEE  BHEEBSENHE
A) physiological ecology
B) population ecology
C)community ecology
D) Ecosystem ecology

7) The basal metabolic rate per unit of body mass is highest in a
A) large endotherm.
B) small endotherm.
C) large ectotherm.
D) small ectotherm.

8) The surface-volume ratio of a cube (length is 3 cm, width is 3 cm and height is 3
cm)is

A) 1

B) 2

C)0.5

D)5
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3. Compare and contrast Batesian mimicry and Mallerian mimicfy. Provide

one example for each of the two types of mimicry. (10 4)

4. According to the Lotka-Volterra model of competition between two species,
draw the trajectory of the two populations in the following figure. At the end of
the simulation, what are the populatlon sizes for each of the two species (SP.1

AND SF.25 {10 53)
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5. Use equations to describe the relationships between Gross Primary
Productivity (GPP), Net Primary Productivity (NPP), Autotrophic Respiration
(Ra), and Net Ecosystem Productivity (NEP). Which one of the above
provides the best measurement for carbon sequestration (B:R.7) in a
terrestrial ecosystem. Explain why. (10 43)
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